ADO#gEt R ERTIE)

SITESA1BIRAE
BTH% Hit =i B&Et HEE
JIE Hh X /NG 1,030 1,080 2,110 980
I 0 0 0 0
JNE—TH 295 303 598 285
JNBE=TH 298 274 572 279
JNE=TH 219 223 442 207
g™ T B 200 228 428 168
HEEMA 18 52 70 41
R/ X /e 1,816 1,904 3,720 1,927
f/## 10 48 58 58
H/##—TH 352 381 733 375
H/#8=TH 500 492 992 502
H/#=TH 557 558 1,115 542
H/##HETH 397 425 822 450
P X /NET 196 212 408 230
H 196 212 408 230
MHBEE X /NG 4,209 4,365 8,574 4213
#EAE5—TH 1,142 1,009 2,151 1,138
#WEAE_-TH 1,424 1,509 2,933 1,351
#WEAE=TH 1,364 1,528 2,892 1,418
#EASMNTH 279 319 598 306
SFHETH X /VET 2,563 2,387 4,950 2,691
XHET—TH 1,138 1,037 2,175 1,204
XET-TH 1,425 1,350 2,775 1,487
XET=TH 0 0 0 0
ko B R/ 3,250 3,020 6,270 3,134
&y E—TBH 645 613 1,258 653
¥ByE=TH 785 802 1,587 756
#rE=TH 389 348 737 376
HkoEMTAH 639 548 1,187 580
sy ERTH 792 709 1,501 769
ESNE = 469 459 928 451
EN—TH 102 119 221 103
EJN=-TH 367 340 707 348




ADO#gEt R ERTIE)

SITESA1BIRAE
BITH% Hit 4 B&Et HEE
ETREMR/NE 2,030 2,013 4,043 2,198
EXRFE—TH 1,072 1,090 2,162 1,105
EXRF=-TH 932 889 1,821 1,069
EXRFE=TH 26 34 60 24
FEH X /NG 1,631 1,610 3,241 1,619
FE—TH 746 737 1,483 805
PE-TH 276 296 572 276
PE=TH 609 577 1,186 538
Fhih X /e 1,868 1,891 3,759 1,719
Fh—TH 415 433 848 398
FHR=-TH 632 609 1,241 570
FH=TH 537 560 1,097 513
PHEmTH 284 289 573 238
PImEMR /NG 2,142 2,107 4,249 1,884
FmxE—TH 663 633 1,296 638
FMEZTH 504 531 1,035 475
FmME=TH 532 504 1,036 404
PmEMTH 443 439 882 367
P X /NGt 1,461 1,308 2,769 1,204
FE—TH 696 605 1,301 577
FE_TH 375 340 715 326
FE=TH 390 363 753 301
WERTHE X /M ET 1,418 1,387 2,805 1,278
WERT—TH 56 44 100 49
MERTZTH 986 958 1,944 863
NER=TH 376 385 761 366
IMEE X /T 3,232 2,946 6,178 3,398
IMEE—TEH 465 415 880 534
IMEEZTH 806 656 1,462 888
IMEE=TH 699 640 1,339 690
IMEETTH 446 434 880 462
IMEERTH 816 801 1,617 824
=&t 27,315 26,689 54,004 26,926




